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Module 7 - Rational Functions Progress Exam 2

31. Determine the domain of the function below. 3

3 =3 -
f@)= o aae—or
(") = 1922 1 362 + 24 1T (% +24+2) 1Y x42)(x+])

A. All Real numbers.

All Real numbers except © = a and z = b, where a € [-1.4,—0.9] and b € [-3.2,—1.3]
C. All Real numbers except © = a, where a € [-17.1,—15.6] X+ Z io X +. *O
D. All Real numbers except = a, where a € [—1.4,—0.9] x #-—?_ X 1 _‘
E. All Real numbers except © = a and x = b, where a € [—17.1,-15.6] and b € [—20, —17.3]

32. Choose the equation of the function graphed below.

& PAZ‘E-'\“— FUJ.«T 10) 1 There was an error in

flx) = +92 how this question
IS L z+2 was generated. Based
X _—__‘) ‘ -1 o) = -1 P on the shape of the
&(_\70 a=' ) )= T —2 graph (1/x) the
2 L 1 answer is A.
& (h, W= (2,7 . 1) = gt

f0=4 Lk ) — - fla) = —— 42
Xl

B 2

33. Choose the graph of the equation below.

A1
V= x-2

$PALEST FOOCTION 5L

1, #a=1>aso

f@) =
T &l e)=0,72)

IS

w
w

There was an error in 2 2
how this question

was generated. Based
on the shape of the .
graph (1/x) the L
answer is C. '
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Module 7 - Rational Functions Progress Exam 2

34. Solve the rational equation below. Then, choose the interval(s) that the solution(s) belongs to.

2 —6

) —
+ 8xr —5 —64z + 40

A. All solutions lead to invalid or complex values in the equation.
x €[0.3,0.9]

C. 21 € [-1,0.6] and x2 € [—4,2]

D. z1 € [1,1.2] and x5 € [—4, 2]

E. z € [~1,0.6]

35. Solve the rational equation below. Then, choose the interval(s) that the solution(s) belongs to.

2x 5x2 B 3 K LD IS (ZX’-S\(‘Z X+6)
20 -3 42+ 18z —18  —21+6

Az €10,1.6] and x2 € [—2,7]

B. All solutions lead to invalid or complex values in the equation.

xe[O,l.G] 2x - Sx* = -3 \(2x—3)(-2x+(—,)

xz € 0,1.6] 1x-3 (2x=(Lx+6) -lx+6

E. z; € [1.7,4.2]) and x5 € [-2,7]

W(-1x+6) =Sx° = =3(2x-2) /'DOI"IAI-\F
—4.2 ey -
G +lix -3x* = -bx+9 2x-3 20 -2 +6 #0O
-Ix* +12x = =6x+9 Ix#3 —Ix#-6
x#
O = x°-/8x +9 2 R

6= 9(x°-
(X (x +1) DOK"‘Al‘Q 5 AL REAL
0= T(x-Nx-1

A =

Xz 15 10 THE POMAILy!
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Y.
-2+_2 =_=6
Bx-3  -G4x+Yo

_—,v,(-l + 2 = -6 S (’8(8)("3\)
8x-S  -&(6x-%)

-2(-8(8x-5)) + 2(-8)y = -6 |DOMAI:
W(8x =Sy =l =-06 8x-S#0
In8x — 80 -lb =-¢ 8x ¢S
126x -9 <-6 XZ2 S D A$0.625
+9¢ - +96 8
n8x= 40 POMALY IS ALL REAL
128 /8 JUMBE RS EXCEPT 0.625
X= 0.303

7 10 THE DOMALY!



Module 8 - Logarithmic and Exponential Equations Progress Exam 2
36. Which of the following intervals describes the Range of the function below?

flz)=—logy (z+9)—7
),a € [—9.53, —8.32] *iA'Q(‘IE OF LOGARITHM PV IC-T'M

A. [a,00

B. (—00,a),a € [6.24,8.99) IS AL ANS (-0, )
C. (—o00,a],a € [8.96,9.60]

D. (—o0,a),a € [~7.99, —5.82]

ED(—. )

37. Which of the following intervals describes the Range of the function below?

fl@)=—e""+5

X+C

oo>),a [[—7 —21] HRANGE OF 4(x)= b +d Is
a, 0o 7,—2

Jal,a € [4,14] (4, @) IF bro 4an (-2,d) (F b CO

00, al, a
00,a),a € [4,14]

o,

O)ya w »

-
(=
E = RAVGE 1S (-07,5)

, 00)

38. Solve the equation for z and choose the interval that contains the solution (if it exists).

log,(3z+7)+5=3

@ € [-4.2,-1.1] =9=-9

B. z € [-0.1,3.5] IOSH(SX-\-?)-. -2

C. z € [17.9,22.2] \ 7'

D. z € [4.8,11.9] TO

E. There is no Real solution to the equation. ,, LI 76 T—H,_E Z EO\)ALS
4 =3x+7 "’ -

-7 = - ;
?:SX.}? ) =—Z.3'ZS\
o~ =3
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ln(Cx)’)(

Module 8 - Logarithmic and Exponential Equations Progress Exam 2 'L
39. Solve the equation for x and choose the interval that contains x (if it exists).
- X
ks 1824 [In(23)- In(€7)
18 =1In
O 36, —32] 18- ln((z”\ ) (8~ In('Z?\ ]2
[

€[~
€ [14,22]
[—

-4 23_‘
19, —15] 16~ 2 L‘h X \‘S 6= I"\(’Z?\ -x

D. z € [28, 34]
E. There is no solution to the equation. 3%— ‘4(?1'): =X
[ =36 +1n(22)= X

40. Solve the equation for x and choose the interval that contains the solution (if it exists).é

C.zre

X=-32.%F
2—590—3:343—3x+5 3 +S
-SXx- mX
O € [1.4,4.5) In(2 2 I~ (343 )
B. x € [~2.6,~0.3]
Corelar 25  (CSx3) ()= (F3x+5)In(393)
D. z € [48,6] =5x1n(2) =3l (2) < -3 IA (392) + S In(3Y3)

E. There is no Real solution to the equation.

-SxIn(2) =3~ () = 3 ‘n(3'133+’51n(3'13)
+Sx 1~ (2D = +3xln (2)

2Un () = -3}‘n(3“l3)+3x"\(7—) +S/’\‘3H3)
-SIn(343) -Sin(343)

'3"\(2\ -3 I’\('S"B) - -3>( |n(3‘13\ +Slh(?_)
=32y =31 (393)= X(=3In(393) + S In(2))

<3a(2) ‘Slh(3‘13) = X ) x=2.23
-3 [349)+3 (2D
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